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PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

Find the equation of a straight line passing
through A (3,5) and B (7, 3).

A(3,5) wipd B(7,3) aaub ydelse efurss
Qeeaid CrTCam_iq 6 FLETUITL g enens seur(HLlly.
Find the equation of the straight line passing
through the point (K, 0) and.parallel to y-axis.
(K,0) aap afunsa|d  y-5aES
@eamuraab Qshgibd CHTGSML i ar FLoTLIT g anas
sy o -

Find the value of x such that the mm@ﬂmbao x-1,
x+3, 3x-1isan A.P.

x-1,x+3,3x -1 erayb Asmit @ &l O QemLjrs
B mEEWL Qurs x-61 LHIdLE STy

Lyemafl

In a G.P. the common ratio is 2 and the sum of the

first 10 terms is 2046. Find the first term.

@@ Qumsgs Asmfé Qung eisb 2 eysabd Ipso
10 epiyssalar sl (B Qsmns 2046 yseyd
2 GTENg)|. DIFEN (PSS 2 MILIenLIS waqﬁ@_mf..

RO

If a matrix has 12 elements, what are ﬁrm possible
orders it can have?

@@ Seiuded 12 o puisser o erarg erafled, siBed
QuPSS&s cuflangaer ereemaen?

An agent receives a fixed salary and a commission
on orders booked. In two successive months he

- obtained orders to the value of Rs. 35,000 and

Rs. 50,000 respectively and received Rs. 2;800 and
Rs. 3, Aoo including his commission and mw_mJN
Find the rate of commission.

Q@ WPEUT Hlepawimen FIDLIETD @eTamulLb, QubpeubS -

dpuemar  epeamsaiiar  SigliuaLubd )

sflgmeanyd Qupdlpri. et AGSs0E5 Qran®
wrgrsafléd wepGu . 35,000 whmib . 50,000 &g
Samanser GUDHDIGTETTT. DeUDMISETET FDLIGTLD WHMILD
slsenna. pamCGu . em: 2,800 SBG_B e 3,400
Qupmeermit slsen elssmass ey
1 0 O
IfB=(0 2 0
0 0 -3
1 0 O
B={0 2 0
0 0 -3
QuuwA@.

, name the type of the matrix.

aafle, Q65 siemfluder cuamgamwL)
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Evaluate _. x3dx.

A9 | x

Integrate [2 + im with respect to x.
X oL 6 QM:FJL Qg ephiflenenr: Hm +xf
Interpolate the value of f (4) from the following :

x: 3 5 7 9.

f@@: 180 150- 120 90
5%@@939@%&_@.&@ f@) - wHieus
ser(Hig.:

% 3 5 T 9
fx): 180 150 120 90
Estimate U, from the following table :
x: 1 2 3 4 5
U, : 7 0 — 13 21 i
emeuhd i LeuamamTaniié Qm:@a@ U, - eau
wSHLEG:
g3% 1 2 3 4 5
U, : 7 — 13 21 37
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The sum of certain numbers of an A.P. is 72. The
first and the last terms are 3 and 6 respectively.
Find the number of terms and the common:
difference.

mw@ @l Qzm_Meo o grer S aramaaflen sl Q%
Qsrens q.m. SiBei G.o.@% LHMILD @E% o ML éseT
peopGu 3 wpmbd 6, Hd odrer o mriyGsaflar
6T Gt et e EnILILLD

Qurgiens  Ceumiuim’enLujib

ser (L.
PART B — (5 x 5 = 25 marks)

Answer any FIVE questions.

. Find the equation of the line that is parallel to

2x +5y =7 and passes through the mid-point of
the line joining the points (2, 7) and (- 4,1).

2x+5y =7 & @%aﬂEqmeB.. A.m, 7) wpmb (-4, C
TEILD
awwiyerefl  aflurseid Geogid  CrTGem yer

yereflgener  @aneméid CrrCam igen

gLoanm’ig enenss Sam(Hidig.
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14,

15.

16.

20.

21.

The gate receipts at the show of a film amounted
to Rs. 6,500 on the first night and showed a drop
of Rs. 110 every succeeding night. If the
operational expenses of the show are Rs. 1,000 a
day, find on which night the show ceases to be
profitable?

2 SeopiuLs sTlduder s BT G 6. 6,500
Glogytd 21g| %.@.@@@.@.& @9._995@ Br@sh. em. 110

oSz Gonbs wmdng. @& st dWar Quéss
SLLewTd prer amisg . 1,000 eeaflds erbg prefle

QuuLssT & Qe SHPSTES @) HEGLD.

Evaluate ._. Am - 4x — RN + wawv dx.

UGG ‘_. Am ~dx - %% + mamv.&x.

Find by a suitable interpolation formula the value

* of f(2.5) from the following data :

X 2 3 4 5

f@: 145 163 175 18
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PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

A factory produces 200 bulbs for a total cost of
Rs. 800 and 400 bulbs for a total cost of Rs. 1,200.
Given that the cost ciirve is a straight line, find
the equation of the straight line and use it to find
cost of producing 300 bulbs.

am Qsmfipsrenew 200 udysmar @m. 800 Qursss
Qeevelfigitd 400 wveyseer . 1,200 OCwrgss
Qeaveilgud 2 pusd Qeliflpg). Qswe) aumaCar( Gm
CrrGam(® aars  Garhssiul(HeTerg). 3HS
CpiCGemiigen sweatuT gaars sar@h - SiBEEL]
uwemu@sd 300 Emcr_mwa: 2 puS @mE@.@Bm:@q
Qeaeamaeus aaa@bﬁ

A man borrows Rs. 1,000 and agrees to pay with a
total interest of Rs. 140 in 12 installments, each
installment being less than the immediately’
preceding one by Rs. 10. What mrocE. be his mwmn
instaliment? .

@meui . 1,000 g& sLamsl Qupm e’y . 140
Corgg 12 saumarseld Hmbus  Qeisss
s Gg ETaTrr. pealeurm geumaTb  SHEG
wphersw seiceamulambs p. 10 @geg._:& 2 GTang|.
(PHD SEUMERT GTELELETE?
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Wereumid  eflugmisellallBhg, Qurmsswrer @t
wHLSLH @sfrsemst vweau@®ss, f(2.5)
wHliewLs Tl 2

x: 2 3 4 5
fe: 145 163 175 18

e =
17. IfA=[1 2 3]and B=|3 4/|.Compute AB.
| ; 5 6|

; v 1 2 .
A=1 2 3] SBEE B={3 4| aeflés AB wws
5 6
saoral (.

18. Insert four terms in an A.P. between 3 and 23.

em &»LHs Ozrifle 3 wpmb 23 &E Ger Cwiuerar
BAENE 2 NIl &Esaens Clamn .

19. Evaluate ..‘_. ANRL +3x% - 2x + wv dx
wHuGE [ (207 + 327 - 22 + wv.%
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22. Integrate (x - 2)° with respect to x..
x 2 Lér Qgriiiy Qetig (x - 2)° - g @,@@%893..

23. Using binomial expansion method estimate the
missing value in the following table :

Year 1961 1971 1981 .1991 2001 2011
Population 2384 2552 2514 2791 ? 3613
(in lakhs)

F@MDILYL Ugeled  aperpenwill LwemuBss  tleme(mid

SiILLauamanmile) edl(HuLHerer i HUGEEG dew:
<per(H 1961 1971 1981 1991 2001 2011
&ser Osnerns

(@R 2384 2552 2514 2791 ? 3613

NPE. k»up o _mbm muw H vwoéﬁvme
2 .3 . 2

AB = BA.

: 1
k»n_MH. J SBEBwM_HN H*ﬂ@w%%ﬂmbﬂg
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